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MATHEMATICS SSC-li
SECTION — A (Marks 15)

Time allowed: 20 Minutes

NOTE: Section-A is compulsory. All parts of this section are to be answered on the question paper itself.
it should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1  Circle the correct option i.e. A/ B/ C / D. Each part carries one mark.

{n Which ordered pair satisfies x-y =37

A (G,3) B. (3,0) C. (2.1 D. (1,2)
(i) Algebraic sentences are of types.

A 2 B. 3 C 4 D. 5
(iit) The relation free from v for equations x =« and i:b is

X
A. e B. ab=1 C. b D. None of these
h a
(iv) Eliminating ¢ from 1:% and ip° - we get
4q° f

A 3ptgt =4 B. 12p°g" =1 C. 3p’ =4g’ D. 4p* =3q*
(v) if a:b=c:d the alternendo property is

A ‘i:ﬁ B u_c C a+b:c+d D. iz:__b_:c~d

¢ o b d b d b d

(vi) f5:8=5:x then x= .

A 5 B. 25 C. 40 D. 8
{vii) How many types of Dispersion are there?

A. 4 B. 3 C. 5 D. 2
{(vil)  The range of the given data 356 4 45 9 8 31,11,105,851s :

A 4.6 B. 7.9 C. 521 D. 2.65
(ix) Ifs e/, then

A 5=kt B. st=k C. st=1 D. s=f
(x) A circle touching three sides of atriangle iscalled

A Circumcirice B In-circle

C. Escribed circle opposite to B D. Escribed circle opposite tc A
(xi) cos(90” -60"y=

A sin30” B. cos30” C. sin60” D. cos60”
(xif) | +cot” @ = i

A tan” & B cos ec’é C. sec” @ D. cot’ &
(xiii) A tangent is a line which touches a circle at point(s).

A. 2 B. 1 C. 3 D. 4
(xiv)  Two circles of different radii are .

A Equal B. Similar C. Equalinsize D. Congruent

{xv) A point dividing a line segment into two equal parts is called .
A Altitude B. Mid paint C. Median D. Paint of trisection
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MATHEMATICS SSC-II

Time allowed: 2:40 Hours Total Marks Sections Band C: 60

NOTE: Attempt any twelve parts from Section ‘B’ and any three questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly.

SECTION — B (Marks 36)
Q.2  Attempt any TWELVE parts. All parts carry equal marks. (12x3=236)
(i) A number consists of two digits whose sum is 13. On interchanging the digits, the number

so formed exceeds by 45 the original number. Find the number.

(ii) Solve :z? +%z +% =0 by completing square method.
2

(iit) Solve 5(4-2x) = 7x({x ~2) by quadratic formuta

(iv) Find a relation independent of x for p(x+a)=qglb+x) ; plc+x)=qg(x+d)
(v) Eliminate ¢ from a(1+1*)=2xt ; b(I1-1*)=2p

{vi) Find the relation independent of x for 7x* —sx+5=0 and 3x'+&x-6=0
{vii) Find the value of x if 5:2x::3:2x-4

(viili)  Find the value of k if c«ch’and @ =250 for b=35

(ix) Find the 4™ proportional of m*> —»*.m and m-n
(x) If x= Bab find the value of x4 4a + x+45 using componando -dividendo theorem.
a+bh x—4a x-—
13, 3
o) 1F 2= -2 prove by k method that © 4/ _ 24
& d f @+ +ée  ace

{xii) A shadow of 32 ft high tree is 4 ft long. If shadow of a tree is 2.5 ft find its height.
(xiii) Five numbers are 1, 4, 0, 7, 9. Find its mean, median and mode.
(xiv) Calculate the A.M from the given information D=x-25, > fD =300 and X /=20
{xv) Calculate the range and variance from the following marks out of 100:

46, 32, 18, 16, 14, 12, 60, 55, 52, 48, 40

(i) Prove that =S¢ __cos¢

cosf®  l+sind

(xvii)  Solve the triangle ABC with m/4=60° ,b=5cm , mLB =90"

(xviii)  Akite has 120m of string attached to it at an angle of elevation of measure 50°. How far is it above

the hand holding it? (Assume that the string is taut)

SECTION ~ C (Marks 24}

Note: Attempt any THREE questions. All questions carry equal marks. (3x 8=24)
Q.3 Prove that from a point, outside a line, the perpendicular is the shortest distance from the point to the line.
Q4 Prové that if a line segment intersects the two sides of a triangle in the same ratio, it is parallel to the

third side.
Q5. Prove thatif two chords of a circle are congruent, they will be equidistant from the centre.
Q6. Construct a triangle PQR having m£Q = 60°, mOR = 4.6cm ‘and mPQO =42cm . Draw the insc.ribed circle

of the triangle. -

- 2SA 1409 (L) -
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MATHEMATICS SSC-II
SECTION — A (Marks 15)

Time allowed: 20 Minutes

NOTE: Section—A is compulsory. All parts of this section are to be answered on the question paper itself.
It should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1  Circle the correct option i.e. A/ B/ C/D. Each part carries one mark.

(i) Which of the following is a compound sentence?
A. x=4 B. x<4 C. x >4 D. x<4d
(i) Which is the solution set of [x|+5=27?
A {3 B. {3,-3} C. 17.-7} D. None of these
(it Eliminating x from x* + L =m" and x +l =n we get
x° X
A mt -t =2 B. m+nt =2 C. m—nt=-2 D. ment =2

(v} If a:h=c:d the alternendo property is

g . : — —d
A a_b B. a_¢ c ath _c+b D u-b _c
I | b d b o b d

(v) If 18, a. and 4 are in continued propertion, a = o

A. +64 B. +9 C. +8 D. +16
(vi) The mode of4, 4,3,2,5 1is

A. 4 B. 2 C. 5 D. 1
(vii) A set contains the given numbers: 4,7, 9,2, 6, 1. Therange is

A. 7 B. 8 C. 9 D. 4

{viii) If a line segment intersects the two sides of a triangle in the same ratio, it is
to the third side.

A. Perpendicular B. Parallel C. Equal D. Greater
(ix) How many types of Dispersion are there?

A 2 B. 3 C. 4 D. 5
(x) Two triangles are similar if their corresponding are equal.

A Sides B. Angles

C. Two angles and one side D. Two sides and one angle
{xi) l+tan’ @ = . ‘

A cos® & B. sec™d C. cot’ & D cosec’d

(xii) tan (90" —30")=

A tan 30" B. tan 90” C. cot 307 D. cot 90°
(xiii)  All angles inscribed in a major arc are

A Right angles B. Acute angles C. Obtuse angles D. Reflexive angles
(xiv)  Two circles of different radii are )

A Equal B. Similar C. Congruent D. Equal in area
(xv) A circle touching the three sides of a triangle is called

A. Circumcircle B. In-circle

C.  Escribed circle opposite to B D. None of these

For Examiner’s use only:
Total Marks: L 15

Marks Obtained: .
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MATHEMATICS SSC-lI

Time allowed: 2:40 Hours Total Marks Sections B and C: 60

NOTE:

Attempt any twelve parts from Section ‘B’ and any three questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly.

Note:
Q.3
Q 4.

Qs.

Qe.

SECTION - B (Marks 36)

Attempt any TWELVE parts. All parts carry equal marks. (12x3=36)
) ) 5 34— 2y -
(i) Solve the linear equation: Xr- ~( 14-x ~1J el
6 2 4 12
(i) The sum of two numbers is 72. One number is 3 more than the two times of the other number.

Find the numbers.

2x+1 [4x-3

iii) Find the solution set of - 5 when xeR
5 2

. . . . 31 3
{iv) Find the solution set of x- mﬁx > 0
(v) Eliminate 't' from v=u+a and s :ut+%a12
(vi) Eiiminate 't from X = l_f: e 21\

a b+ b 1+t
(vii) Find a relation independent of x from my’ +3x+2=0 : s +3x+1=0
(viit) Ifx:p=4d4:5find 3x+2y: 2x+4y
(ix) if vaer and v=32 for r =2, findvif r=4

3x+Ty  Bu+Tv

{x) Provethat x:v=u v if =
’ 3x-T7y  3u-Tu

(xi) A shadow of 32 feet high tree is 4 feet long. If shadow of a tree is 2.5 feet, find its height.

(xii) A set of data contains the value as 148, 145, 160, 157, 156, 160. Show that Mode > Median > Mean.
{xiii) Find the range of set of measurements 1.25, 3.12, 15, 14.28, 9.1, 16.24, 4.45,1.13, 9, 16.28.

(xiv)  Caiculate the AMfrom D =Y -140. XD =300 and »=10

cosecd —sectd | -tand

{xv) Prove that =
cosecd +secd  1+tanéd

(xvi) if sin# == find the remaining trigonometric ratios when & lies in the 1% quadrant.

(SRR N

(xvii)  Solve the triangle ABC when mZB8=90" : b=12cm and u=6cm.

(xviii)  Find the measure of an angle of elevation of the sun, if a tower 300 meter high casts a shadow

of 450 m long.
SECTION — C (Marks 24)

Attempt any THREE questions. All questions carry equal marks. (3x8=24)
Prove that if a diameter of a circle bisects a chord, it will be perpendicular to the chord.
Prove that if two sides of a triangle are unequal in length, the measure of the angie opposite to the longer
side is greater than that of the angle opposite to the shorter side.
Prove that in a right angled triangle, the square of the length of hypotenuse is equal to the sum of the
squares of thé lengths of the other two sides.

Construct a triangle ABC when mAB =4.1em . mBC =4.6cm and m<B =45 Draw a circum-circle of the

triangle.
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